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P - III (1+1+1) G / 21 (N)

2021

BOTANY (General)
Paper Code : VII-A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : VII - A
Full Marks : 16 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which of the following ions are required for binding of ribosomal subunits?

(A) Na+

(B) Mg++

(C) Mn++

(D) Fe++

1Ð ö„þy ä̃ xyëû̃  îûy£zöìîyöì¢yöì›îû x•ƒ~„þ„þ ”%!Ýþöì„þ ë%_« „þöìîûÚ

(A) Na+

(B) Mg++

(C) Mn++

(D) Fe++

2. Site for detoxification of xenobiotic compound is —

(A) Golgi bodies

(B) Ribosomes

(C) Cytosol

(D) Endoplasmic reticulum

2Ð ö‹öì̃ yîyöìëûy!Ýþ„þ þ™”yíÅ xþ™¢yîûöì’îû ¢öìD ë%_« éôôôé

(A) †œ!† îlßþ

(B) îûy£zöìîyöì¢y›

(C) ¢y£zöìÝþy¢œ

(D) ~öìuþy²Õy¢!›„þ öîû!Ýþ„%þœy›
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3. The representation of tetrasomic condition is —

(A) (2n+1)

(B) (2n+2)

(C) (2n–1)

(D) (2n–2)

3Ð !˜Á¬!œ!…“þ ö„þy ä̃!Ýþîû ¢y£yöìëÄ öÝþÝþÆyöì‹y!›„þ ‹#î öîyGþyöì̃ y ëyëûéôôôé

(A) (2n+1)

(B) (2n+2)

(C) (2n–1)

(D) (2n–2)

4. Emasculation is a process of —

(A) Clonal selection

(B) Mass selection

(C) Hybridization

(D) Pure line selection

4Ð £z›y¢!„þvþzöìœŸ˜ £œ ~„þ²Ì„þyîû þ™kþ!“þ éôôôé

(A) ö„Ïþy˜yœ !˜îÅy‰þöì̃ îû

(B) ”œîkþ !˜îÅy‰þöì̃ îû

(C) ¢‚„þîûyëûöì̃ îû

(D) !îÖkþéôéî‚Ÿ•yîûy !˜îÅy‰þöì̃
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5. Exchange of segment between non-homologous chromosome is called —

(A) Crossing over

(B) Inversion

(C) Duplication

(D) Translocation

5Ð x¢›¢‚ßþi öe«yöì›yöì¢yöì›îû ›öì•Ä x‚öìŸîû !î!˜›ëû £öìœ “þyöì„þ îöìœ éôôôé

(A) e«!¢‚ç¦þyîû

(B) £z̃ ¦þyîûŸ˜

(C) v%þ!²Õöì„þŸ˜þ

(D) ÝþÆyªöìœyöì„þŸ˜

6. Which one of the following is polycentric chromosome containing plant?

(A) Pisum sativum

(B) Triticum aestivum

(C) Zea mays

(D) Luzula purpurea

6Ð !˜Á¬!œ!…“þ ö„þy ä̃!Ýþ þ™!œöì¢!rÝþÆ„þ öe«yöì›yöì‹y› ¢›!§º“þ vþz!q”Ú

(A) Pisum sativum

(B) Triticum aestivum

(C) Zea mays

(D) Luzula purpurea
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7. Histone proteins usually have high proportion of  amino acids.

(A) Positively charged

(B) Negatively charged

(C) Hydrophobic

(D) Aromatic

7Ð !£öìÞÝþy˜ ö²Ìy!Ýþöì̃  vþzF‰þ›yeyëû  xÄy!›öì̃ y xÄy!¢vþ íyöì„þÐ

(A) •˜yc„þ “þ!vþüê•›Å#

(B) }’yc„þ “þ!vþüê•›Å#

(C) £y£zöìvÈþyöìšþy!î„þ

(D) xÄyöìîûy›Äy!Ýþ„þ

8. Which of the following is correct for dihybrid cross?

(A) 1YYRR, 2 YyRR, 2yyRr, 4YyRr

(B) 1YYRR, 3 YyRR, 2yyRr, 3YyRr

(C) 3YYRR, 3YyRR, 2yyRr, 4YyRr

(D) 1YYRR, 2 YyRR, 2yyRr, 3YyRr

8Ð !˜Á¬!œ!…“þ ö„þy ä̃!Ýþ vþy£z£y£z!îÊvþ e«öì¢îû ‹˜Ä ¢!àþ„þ £öìî éôôôé

(A) 1YYRR, 2 YyRR, 2yyRr, 4YyRr

(B) 1YYRR, 3 YyRR, 2yyRr, 3YyRr

(C) 3YYRR, 3YyRR, 2yyRr, 4YyRr

(D) 1YYRR, 2 YyRR, 2yyRr, 3YyRr
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9. Chiasmata are first seen in the stage of —

(A) Leptotene

(B) Zygotene

(C) Pachytene

(D) Diplotene

9Ð „þyëûy‹›yÝþy †àþ˜ ²Ìí› ö”…y ëyëû ö„þy ä̃ vþzþ™”Ÿyëû éôôôé

(A) öœöì²Wzy!Ýþ˜

(B) ‹y£zöì†y!Ýþ˜

(C) þ™y„þy£z!Ýþ˜

(D) !vþöì²Õy!Ýþ˜

10. A child of O-group has B-group father. The genotype of father will be —

(A) ii

(B) IAIB

(C) IBIB

(D) IBi

10Ð O @ùÌ&þ™ ~îû ~„þ!Ýþ !ŸÖîû !þ™“þyîû îûöì_«îû @ùÌ&þ™ B £öìœ– !þ™“þyîû !‹öì̃ yÝþy£zþ™ !„þ £öìî éôôôé

(A) ii

(B) IAIB

(C) IBIB

(D) IBi



Page : 8 of 13

11. Find the mode in the following data set —

[12, 15, 13, 15, 12, 14, 15]

(A) 12

(B) 13.7

(C) 15

(D) 14

11Ð !˜Á¬!œ!…“þ “þíÄ ¢‚„þœ˜ öíöì„þ ö›yvþ !˜’Åëû „þöìîûy éôôôé é

S12– 15– 13– 15– 12– 14– 15V

(A) 12

(B) 13.7

(C) 15

(D) 14

12. What is the relationship between Standard deviation (SD) and variance?

(A) Variance = SD

(B) Variance = (SD)2

(C) Variance = SD/n

(D) None of the above

12Ð ‘SD’ ~î‚ ‘Variance’ ~îû ›öì•Ä ¢Á™„Åþ £öìœy éôôôé

(A) Variance = SD

(B) Variance = (SD)2

(C) Variance = SD/n

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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13. Which of the following is not a plant growth regulator?

(A) Auxin

(B) Cytokinin

(C) Abcisic acid

(D) Polyphenol

13Ð !˜Á¬!œ!…“þ ö„þy ä̃!Ýþ vþz!qöì”îû ö@ùÌyí öîû=öìœÝþîû ˜ëû éôôôé

(A) x!:˜

(B) ¢y£zöìÝþy„þy£z!˜˜

(C) xÄyî!¢!¢„þ xÄy!¢vþ

(D) þ™!œöìšþ˜œ

14. In the E. coli cloning vector pBR, the number of selectable marker is —

(A) four

(B) one

(C) two

(D) three

14Ð E. coli ö„Ïþy!˜‚ ö¦þQöìîû !¢öìœQîœ ›y„Åþyîû ~îû ¢‚…Äy £öìœy éôôôéé

(A) 4

(B) 1

(C) 2

(D) 3
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15. PCR proceeds in three distinct steps governed by temperature. They are in
order of —

(A) Denaturation, synthesis, annealing

(B) Annealing, synthesis, denaturation

(C) Synthesis, annealing, denaturation

(D) Denaturation, annealing, synthesis

15Ð PCR ~îû “þyþ™›yey !˜ëû!sþf“þ !“þ˜!Ýþ •yþ™ £öìœy éôôôé

(A) !vþ˜Äy‰%þöìîûŸ˜– !¢öìsþi!¢¢– xÄy!˜!œ‚

(B) xÄy!˜!œ‚– !¢öìsþi!¢¢– !vþ˜Äy‰%þöìîûŸ˜

(C) !¢öìsþi!¢¢– xÄy!˜!œ‚– !vþ˜Äy‰%þöìîûŸ˜

(D) !vþ˜Äy‰%þöìîûŸ˜– xÄy!˜!œ‚– !¢öìsþi!¢¢

16. Which of the following is known as ‘molecular scissor’?

(A) Taq polymerase

(B) Recombinant DNA

(C) Restriction endonuclease

(D) None of the above

16Ð !˜Á¬!œ!…“þ ö„þy ä̃!Ýþöì„þ xy’!î„þ „¤þy!‰þ îœy £ëû éôôôé

(A) Taq þ™!œ›yöìîû‹

(B) !îû„þ!Áº̃ ÄyrÝþ DNA

(C) öîû!ßþTÉ„þŸ˜ ~öìuþy!˜vþz!„Ïþöìëû‹

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
—————
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P - III (1+1+1) G / 21 (N)

2021

BOTANY (General)
Paper Code : VII-B

[New Syllabus]

Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

1. Answer any one of the following questions : 9×1=9

(a) What is translocation? Briefly discuss the different types of translocation
1+8=9

(b) What is ‘Pedigree selection’? Elucidate the detailed procedure of ‘Mass
selection’. What are the applications of heterosis in plant breeding?

2+4+3=9

2. Answer any two of the following questions :                             4×2=8

(a) Briefly discuss the nucleosome structure with suitable diagram. 4

(b) Distinguish between paracentric and pericentric inversion.  4

(c) What is Clonal selection? Write down  its merits and demerits.  1+3=4

(d) Write short notes on : 2+2=4

(i) Epistasis

(ii) Multiple allele

Group - B

3. Answer any one of the following questions : 9×1=9

(a) What is PCR? With suitable sketches briefly discuss the process PCR.
Mention two applications of PCR. 1+6+2=9
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(b) What do you mean by standard error? From the following data determine
the (i) mean, (ii) median, (iii) standard deviation and (iv) standard error.

1+8=9

No. of fruits/Mango plant :

[15, 12, 16, 20, 18, 11, 15, 12, 14, 16, 18, 12, 15, 16, 17, 17, 18,
12, 13, 15, 16, 14, 13, 12, 16]

4. Answer any two of the following questions : 4×2=8

(a) What is the difference between population and sample? Write down the
merits and demerits of standard deviation. 2+2=4

(b) What is Chi-square test and what is its main application? 2+2=4

(c) What is zygotic embryogenesis? Write in brief the applications of
micropropagation in plant science. 1+3=4

(d) Briefly state the role of Agrobacterium tumefaciens in genetic engineering.
4

îDy˜%îy”

!î¦þy† éôé „þ

1Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

S„þV ÝþÆyªöìœyöì„þŸ˜ îœöì“þ !„þ öîyöìGþyÚ ¢‚öìÇþöìþ™ !î!¦þ§¬ •îûöì̃ îû ÝþÆyªöìœyöì„þŸ˜éôé~îû î’Å̃ y
”yçÐ 1+8=9

S…V ‘Pedigree Selection’ !„þÚ ‘Mass Selection’ þ™kþ!“þîû •yþ™=!œ î’Å̃ y „þöìîûyÐ vþz!q”
²Ì‹˜˜!î”Äyëû ö£öìÝþöìîûy!¢¢éôé~îû =îû&c î’Å̃ y „þöìîûyÐ 2+4+3=9

2Ð !˜Á¬!œ!…“þ öëöì„þyöì̃ y ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV vþzþ™ë%_« !‰þe¢£öìëyöì† !˜vþz!„Ïþçöì‹y› ~îû †àþ˜ î’Å̃ y „þöìîûyÐ 4

S…V ‘Paracentric inversion’ ~î‚ ‘Pericentric inversion’ ~îû ›öì•Ä þ™yíÅ„þÄ !˜îû*þ™’
„þöìîûyÐ 4

S†V ‘Clonal Selection’ îœöì“þ !„þ öîyöìGþyÚ ~£z þ™kþ!“þîû vþzþ™„þy!îû“þy ç xþ™„þy!îû“þy
öœöì…yÐ 1+3=4
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S‡V ¢‚!Çþ® Ýþ#„þy öœöì…y ­ 2+2=4

S1V ~!þ™ÞÝþÄy!¢¢

S2V ›y!ÎÝþþ™œ xÄy!œœ

!î¦þy† éôé …

3Ð !˜Á¬!œ!…“þ öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

S„þV PCR !„þÚ vþzþ™ë%_« Šéöì„þîû ¢y£yöìëÄ PCR þ™kþ!“þ!Ýþ îÄy…Äy „þöìîûyÐ PCR þ™kþ!“þîû ”%!Ýþ
îÄî£yîû vþzöìÍÔ… „þöìîûyÐ 1+6+2=9

S…V ‘Standard error’ îœöì“þ !„þ öîyöìGþyÐ !˜Á¬!œ!…“þ “þíÄ ¢‚„þœ˜ ~îû ¢y£yöìëÄ

(i) Mean

(ii) Median

(iii) Standard deviation and

(iv) Standard error !˜’Åëû „þöìîûyÐ 1+8=9

šþöìœîû ¢‚…Äy / xy› †yŠé ­

[15– 12– 16– 20– 18– 11– 15– 12– 14– 16– 18– 12– 15– 16– 17– 17–
18– 12– 13– 15– 16– 14– 13– 12– 16]

4Ð !˜Á¬!œ!…“þ öëöì„þyöì̃ y ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV ‘Population’ ~î‚ ‘Sample’ ~îû ›öì•Ä þ™yíÅ„þÄ öœöì…yÐ ‘Standard deviation’ ~îû
„þyëÅ„þy!îû“þy ~î‚ ¢#›yîkþ“þy vþzöìÍÔ… „þöìîûyÐ 2+2=4

S…V Chi-square test !„þÚ ~îû îÄî£yîû=!œ öœöì…yÐ 2+2=4

S†V ‘Zygotic embryogenesis’ „þyöì„þ îöìœÚ vþz!q” !îKþyöì̃  ›y£zöìe«yöì²Ìyþ™yöì†Ÿ˜éôé~îû
îÄî£yîû=!œ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þöìîûyÐ 1+3=4

S‡V ö‹öì̃ !Ýþ„þ £z!O!˜ëûy!îû‚éôé~îû öÇþöìe Agrobacterium tumefaciens-~îû ¦)þ!›„þy !îî,“þ
„þöìîûyÐ 4

——————


